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Practice Problems
5) A rectangular prisin has a length of 9 units, and a width of 8 units. If the volume of the prism is 936 cubic units,
nat is the height of the prism?
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6) A rectangular prism has a length of 11 units, and its volume is 704 cubic units. its width and height are the same,
find the remaining dimensions of the prism.
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7) If this prism has a volume of 684 ft*, what is the area of its base? ;
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)ﬁtm has a rectangular prism with a length of 10 centimeters, a width of 2 centimeters, and an
unknown height. He needs to build another rectangular prism with a length of 5 centimeters and
the same height as the original prism. The voiume of the two prisms will be the same. Find the
width, in centimeters, of the new prism.

9) Find the volume of this cylinder in terms of pi:
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10) The volume of a cylinder is 4687 cubic inches. If the cylinder's height is 13 inches, what is its raclius?
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11) The volume of a cylinder is 225 cubic inches. If the cylinder’s diameter is 10 inches, what is the height of the
cylinder in terms of pi?
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12) Determine which popcorn container has a greater volume:
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13) A can of soda is in the shape of a cylinder with a diameter of 6.4 crn and a height of 12.3 cm. How many cubic
cm of liquid does the can hold?
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14) The volume of a cylinder is 1287 cubic inches. If the cylinder’s height is 8, what is the radius of the cylinder?
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